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Mathematics
Arithmetic: Paper 1 

total marks

40

Name

Date

Year 6 SATs Survival
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

2

1 83 + 465 =

2      -      =

3 2 × 55 =

7
9

5
9
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

3

4 387 × 0 =

5 88 ÷ 11 =

6 6 × 10 × 4 =
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

4

7 9,023 - 811 =

8 52 + 20 =

9 45.72 + 23.5 =
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

5

10 ? - 10 = 197

11 240 ÷ 4 =

12 6,300 ÷ 7 =
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

6

13 75 ÷ 15 =

14 ? = 7,814 - 352

15 4,003,600 = 4,000,000 + ? + 600
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

7

16 10 - 6.3 =

17     +     =

18 0.4 ÷ 100 =

5
9

7
18
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Key Stage 2: Arithmetic Paper 1

Total for 
this page

8

19     of 1,000 =

20 381 × 27 =

3 8 1
× 2 7

21 25% of 1,100 =

4
5
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Key Stage 2: Arithmetic Paper 1
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this page

9

22 1,222 ÷ 47 =

4 7 1 2 2 2

23 0.5 × 36 =

24      +     =1
3

1
5
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25 1     +     =

26 8 - 7.209 =

27 7.2 × 50 =

2
3

2
3
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this page

11

28 1     -     =

29 7,328 × 76 =

7 3 2 8
× 7 6

30 90% of 300 =

3
8

1
2
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31      ÷ 2 =

32 27 ÷ 3 + 42 =

33 1     × 30 =

1
3

1
2
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Total for 
this page

13

34 23% of 510 =

35 5     - 3     =

36 6,536 ÷ 86 =

8 6 6 5 3 6

1
6

3
4


